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11. Let x = sec §. Then
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12. f 1511 3:2 dz = 0 by Theorem 5.5.7(b), since f(x) = _: 1s an odd function.
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13. Lett = V/z. Then+® = z and 3¢ dt = dx, Sofe%dJ::fe*-Stzdt = 37. To evaluate I, let u = ¢°,
dv=c'dt = du=2tdt,v=e'sol= [t’e'dt=1""— [2te'dt NowletU =t dV =e'dt =
dU = dt,V = &' Thus, I = t?e* — 2[te’ — [’ dt] = t?e* — 2te’ + 2¢* + €1, and hence

3T =3e'(t* — 2t +2) + C = 3e V= (¥ — 22V + 2) 4+ C.
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sec® @ (tan® 8 + 1)* sec® @ u= tan f, (u +1‘}2 ut+ 20 +1
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17. Integrate by parts with u = z, dv = secx tanzdr = du = dx, v = seca:

14
Jf:r:secx tan x dx =3:sec:r—fsec:r:dx=xsec:r:—ln|sec:r+tan;r| +C.
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Taking x = 0, we get —3 = 3B,s0 B = —1. Taking r = —3, we get —18 = 9C,so C' = —2.
Taking x = 1, wepget6 =44 4+4B+C =44 —-4—-2 s044 =12 and 4 = 3. Now
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1 x4+l r+1 g — r+1 e u= 3z + 1,
' —I—B:c—l—ﬁ (922 + 6z +1)+4 | (3z+1)2+4 du= 3dz
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= = In(92% + 6z +5) + s tan" ' [3(3z + 1)] + C

20. than“;‘ 8 sec® 8.df = ftea.n4 6 sec”® @ secd tan 8 df = f{secz 8 —1)* sec”® 8 secd tan 8 dé [d: z ::z g,'tnn Edﬂ'}
= [(u® — 1)’ du = f(u® —2u" + o) du
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